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Solved Examples

1. Find the distance between the points

 and .(acos 60∘ , 0) (0, asin 60∘ )

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qIVxWm1XzJPS


Watch Video Solution

2. Find the vaue of x if the distance between

the points (2, -11) and (x, -3) is 10 unit.

Watch Video Solution

3. Show that the ponts (1, -1), (5, 2) and (9, 5)

are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_qIVxWm1XzJPS
https://dl.doubtnut.com/l/_p43MJV4xbNpg
https://dl.doubtnut.com/l/_mjEH1CVWHIZW
https://dl.doubtnut.com/l/_pmIhqw4Nla8C


4. If P(2, -1), Q(3, 4), R(-2, 3) and S(-3, -2) are four

points in a plane, show that PQRS is a

rhombus but not a square. Also find its area.

Watch Video Solution

5. Find a point on the x-axis, which is

equidistant from the points (7, 6) and (-3, 4).

Watch Video Solution

https://dl.doubtnut.com/l/_pmIhqw4Nla8C
https://dl.doubtnut.com/l/_79Htq7bg3iWu


6. If A(-1, 3), B(1, -1) and C(5, 1) are the vertices

of triangle ABC, find the length of the median

passing through the vertex through A.

Watch Video Solution

7. If the points A(a, -10), B(6, b), C (3, 16), D (2, -1)

are the vertices of a parallelogram ABCD, find

the values of a and b.

Watch Video Solution

https://dl.doubtnut.com/l/_5cUVERU5iLJf
https://dl.doubtnut.com/l/_mprFu7dEglyX
https://dl.doubtnut.com/l/_KyIJ6X3aIcDV


Question Bank

8. Two vertices of a triangle are A(1, 1), B (2, -3).

If its centroid is (2, 1) find the third vertex.

Watch Video Solution

1. The distance between the points

 and  is 

A. 

B. 

(cos θ, sin θ) (sin θ, − cos θ)

√3

√2

https://dl.doubtnut.com/l/_KyIJ6X3aIcDV
https://dl.doubtnut.com/l/_TdM99hqRGUAv


C. 1

D. 0

Answer: B

Watch Video Solution

2. If y is a positive integer such that the

distance between the points (-6, -1) and (-6, y)

is 12 units, then y= 

A. 5

https://dl.doubtnut.com/l/_TdM99hqRGUAv
https://dl.doubtnut.com/l/_DtkgM6whPtND


B. 8

C. 11

D. 1

Answer: C

Watch Video Solution

3. If A (x, y) is equidistant from P (-3, 2) and Q

(2,-3), then

A. 2x = y

https://dl.doubtnut.com/l/_DtkgM6whPtND
https://dl.doubtnut.com/l/_CrR3QFM8sSwT


B. 

C. 

D.  

Answer: D

Watch Video Solution

x = − y

x = 2y

x = y

4. The nearest point from the origin is

A. (2, -3)

B. (6,0) 

https://dl.doubtnut.com/l/_CrR3QFM8sSwT
https://dl.doubtnut.com/l/_dfauwwasvRas


C. (-2,-1)

D. (3,5)

Answer: C

Watch Video Solution

5. The vertices of a triangle are A (3,-2), B (-2, 1)

and C (5,2). Then the length of the median

through B is 

A.  units√67

https://dl.doubtnut.com/l/_dfauwwasvRas
https://dl.doubtnut.com/l/_FdBS8IpZii5X


B.  units

C.  units

D. 6 units 

Answer: B

Watch Video Solution

√37

√35

6. The points (a, a), (–a, –a) and

  are the vertices of

A. right triangle 

( − √3a, √3a)

https://dl.doubtnut.com/l/_FdBS8IpZii5X
https://dl.doubtnut.com/l/_TTKTQgYRtHVR


B. scalene triangle

C. equilateral triangle

D.  isosceles triangle 

Answer: C

Watch Video Solution

7. The co-ordinates of the vertices of a side of

square are (4, -3) and (-1,-5). Its area is

A.  sq. units2√29

https://dl.doubtnut.com/l/_TTKTQgYRtHVR
https://dl.doubtnut.com/l/_aIih3nUAJFCR


B.  sq. units

C. 89 sq. units 

D. 29 sq. units

Answer: D

Watch Video Solution

√89

2

8. The quadrilateral with vertices P(-3, 2),

Q(-5,-5), R(2, -3) and S (4,4) is a 

A. rectangle

https://dl.doubtnut.com/l/_aIih3nUAJFCR
https://dl.doubtnut.com/l/_FUYqdhcaOnop


B. square

C. rhombus

D. kite

Answer: C

Watch Video Solution

9. The value of p for which the points (-1, 3), (2,

p) and (5,-1) are collinear is 

A. −1

https://dl.doubtnut.com/l/_FUYqdhcaOnop
https://dl.doubtnut.com/l/_LsBb1SKNbRsB


B. 

C. 

D. 

Answer: D

Watch Video Solution

2

1

3

1

10. The centre of a circle is (x - 2, x+1) and it

passes through the points (4,4). Find the value

(or values) of x, if the diameter of the circle is

of length  units.2√5

https://dl.doubtnut.com/l/_LsBb1SKNbRsB
https://dl.doubtnut.com/l/_j2PFUkvX9RNO


A. 1 or 3

B. -1 or 4

C. 5 or 4

D. 3 or -2

Answer: C

Watch Video Solution

11. Find the area of a rectangle whose vertices

are A(-2, 6), B (5,3), C (-1,-11) and D(-8,-8) 

https://dl.doubtnut.com/l/_j2PFUkvX9RNO
https://dl.doubtnut.com/l/_U5tXk0rNHQFv


A.  sq. units 

B. 116 sq. units

C.  sq. units 

D.  sq. units

Answer: B

Watch Video Solution

4√29

29√5

58√2

12. If the points P (12,8), Q (-2, a) and R (6,0) are

the vertices of a right angled triangle PQR,

where , the value of a is ∠R = 90∘

https://dl.doubtnut.com/l/_U5tXk0rNHQFv
https://dl.doubtnut.com/l/_DYFDtHd3GqSG


A. 6

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2

−4

−6

13. Of

A( − 2, − 1), B(a, 0), C(4, b)andD(1, 2)

https://dl.doubtnut.com/l/_DYFDtHd3GqSG
https://dl.doubtnut.com/l/_0x42EVQOr5E4


are the vertices f a parallelogram, find the

values of 

A. 3, 1

B. 

C. 1, 3

D. 

Answer: C

Watch Video Solution

aandb.

−3, 1

−1, − 3

https://dl.doubtnut.com/l/_0x42EVQOr5E4


14. The co-ordinates of one end-point of a

circle are (-3, 1) and the co-ordinates of the

centre of the circle are (2, 4). The co-ordinates

of the other end-point of the diameter are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , )
−1

2

−3

2

( − 7, 9)

(7, 9)

( , )
1

2

3

2

https://dl.doubtnut.com/l/_TCEedwU0nonR


Watch Video Solution

15. If three
 consecutive vertices of a

parallelogram are 
 and 


, find its
fourth vertex.

A. (2,-3)

B. (-2,-3)

C. (3,2)

D. (3,-2) 

Answer: C

(1,   − 2),  (3,  6)

(5,  10)

https://dl.doubtnut.com/l/_TCEedwU0nonR
https://dl.doubtnut.com/l/_AsmeiRl1T0Ht


Watch Video Solution

16. The point on the x-axis which is equidistant

from the points (7,6) and (-3, 4) is 

A. (0, 3)

B. (3, 0)

C. (-3, 0)

D. (0, -3)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AsmeiRl1T0Ht
https://dl.doubtnut.com/l/_03v3YhVOstHb


17. What is the perimeter of the parallelogram

JKLM, whose co-ordinates are J(-5,2), K (-2, 6), L

(5,6), M(2, 2). 

A. 30 units

B. 24 units

C. 28 units

D. 21 units 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_03v3YhVOstHb
https://dl.doubtnut.com/l/_5elFKltAXpNh


18. Find the area of the right angled triangle

whose vertices are (2,-2), (-2, 1) and (5,2). 

A.  sq. units

B.  sq. units 

C.  sq. units 

D. 10 sq. units

Answer: B

Watch Video Solution

5√2

25

2

15√2

https://dl.doubtnut.com/l/_5elFKltAXpNh
https://dl.doubtnut.com/l/_cy4TM23Eh9ma


19. The points (3,4), (11, 10) and (5, 11/2) are

A. collinear 

B. vertices of an equilateral triangle

C. vertices of isosceles triangle 

D. vertices of scalene triangle.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cy4TM23Eh9ma
https://dl.doubtnut.com/l/_fFWHj3cj5FfK


20. The co-ordinates of vertices P and Q of an

equilateral  are  and (0, 0).

Which of the following could be co-ordinates

of R ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔPQR (1, √3)

(1, 2)

(2, 0)

(1, )
√3

2

(√3, 1)

https://dl.doubtnut.com/l/_oDlltr2GKfd8


Self Assessment Sheet

Watch Video Solution

1. The distance between the points (a, b) and (-

a, -b)

A. 0

B. 1

C. 

D. 

√ab

2√a2 + b2

https://dl.doubtnut.com/l/_oDlltr2GKfd8
https://dl.doubtnut.com/l/_Dy2f73osF6wx


Answer: D

Watch Video Solution

2. Show that the points (a, 0), (0, b) and (1, 1)

are collinear, if 

A. 

B. 1

C. 0

D. 2

+ = 1
1

a

1

b

−1

https://dl.doubtnut.com/l/_Dy2f73osF6wx
https://dl.doubtnut.com/l/_JEvF54UqOtVB


Answer: B

Watch Video Solution

3. If Q (0, 1) is equidistant from P (5,-3) and R (x,

6) , then positive value of x is

A. 5

B. 4

C. 2

D. 8

https://dl.doubtnut.com/l/_JEvF54UqOtVB
https://dl.doubtnut.com/l/_oFkM3vBgYekA


Answer: B

Watch Video Solution

4. The quadrilateral formed by the points (-1,

-2), (1,0), (-1, 2) and (-3,0) is a

A. rectangle

B. square

C. rhombus

D. none of these

https://dl.doubtnut.com/l/_oFkM3vBgYekA
https://dl.doubtnut.com/l/_aeyLewZZAO73


Answer: B

Watch Video Solution

5. The third vertex of a triangle, whose two

vertices are (-4,1) and (0, -3) and centroid is at

the origin is

A. (3, 1)

B. (-4,1)

C. (4,2)

D. (-1,2) 

https://dl.doubtnut.com/l/_aeyLewZZAO73
https://dl.doubtnut.com/l/_4E2WkMTIzNup


Answer: C

Watch Video Solution

6. (3, 2), (-3, 2) and  are, the vertices of

……………...triangle of area ………. .

A. isosceles, 81 sq. units 

B. scalene,  sq. units

C. equilateral,  sq. units 

D. right angled, 81 sq. units

(0, 2√3)

9√3

9√3

https://dl.doubtnut.com/l/_4E2WkMTIzNup
https://dl.doubtnut.com/l/_ZLmCH4lLBB6L


Answer: C

Watch Video Solution

7. The mid-point of the line segment joining

(2a, 4) and (-2, 2b) is (1, 2a + 1). The values of a

and b are 

A. a = 3, b = -1

B. a = 2,b = -3

C. a = 3, b = -2

D. a = 2, b = 3

https://dl.doubtnut.com/l/_ZLmCH4lLBB6L
https://dl.doubtnut.com/l/_bnT36PjfmOjB


Answer: D

Watch Video Solution

8. If A (1,0), B (5,3), C(2,7) and D (x, y) are

vertices of a parallelogram ABCD, the co-

ordinates of D are

A. (-2, -3)

B. (-2, 4)

C. (2, -3)

D. (3, 5)

https://dl.doubtnut.com/l/_bnT36PjfmOjB
https://dl.doubtnut.com/l/_ov3J61RQBe1R


Answer: B

Watch Video Solution

9. If the point (x, y) is equidistant from the

points (a+b, b-a) and (a-b, a+b), then prove

that bx=ay.

A.  

B. 

C.  

D.  

bx + ay = 0

bx − ay = 0

ax + by = 0

ax– by = 0

https://dl.doubtnut.com/l/_ov3J61RQBe1R
https://dl.doubtnut.com/l/_JvHyzYljNfqn


Answer: B

Watch Video Solution

10. The centre of the circle is at the origin and

its radius is 10. Which of the following points

lies inside the circle? 

A. (6,8)

B. (0, 11) 

C. (-10,0)

D. (7,7)

https://dl.doubtnut.com/l/_JvHyzYljNfqn
https://dl.doubtnut.com/l/_IYH6rcTYm9my


Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IYH6rcTYm9my

